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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 986 4 1.6 6 66.6 99.6
2 964 2.2 1.7 6 37.3 97.4
3 975 1.2 1 4 29 98.5
4 951 1.1 1.4 6 18.8 96.1
5 964 1 1.1 8 12.6 97.4
6 936 0.5 1.1 6 8.5 94.5
7 980 1.7 1 6 28.5 99
8 983 6.8 3.8 18 37.6 99.3
9 968 1.2 1 4 29 97.8

10 799 0.4 0.8 4 10.8 80.7
11 984 5 2.4 12 41.7 99.4
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Specimen Answers 


 


B 3 Marks 


All three match the right field and have enough of the description to award the mark. 








Specimen Answers 


A   2  Marks 


Format check say just enough as it does relate back to the field and the presence check is fine.  Data
type tends to be built into systems and is not a validation check. 
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Q Section A Marks 
3.(a) Award up to three marks for descriptions of methods 


 
Check digit – using calculations on the account number to generate a new last 
number  
 
Presence check to make sure that there is a number in the account number field 
 
Length check on account number to ensure that the correct number of 
characters have been entered 
 
Format check on account number to ensure that there is one block of 8 numbers 
 
 
NOT data type check, range check 
Can award 1 mark if all 3 are too general 
 


3 


3.(b) Award 1 mark for check digit with a sensible reason i.e. value has to be an 
actual account number which has been used 
 
Accept but not expected: Hash total 
 


1 








Specimen Answers 


2 Marks 


Format check say just enough as it does relate back to the field and the presence check is fine.  Data 
type tends to be built into systems and is not a validation check. 


B 3 Marks 


All three match the right field and have enough of the description to award the mark. 








Specimen Answers 


A   2  Marks 


Format check say just enough as it does relate back to the field and the presence check is fine.  Data
type tends to be built into systems and is not a validation check. 


3 Marks 


All three match the right field and have enough of the description to award the mark. 








C 1 Mark 


 
 
Length check is just passable as the field is mentioned in the 3rd sentence.  Character check is their 
attempt at data type which isn’t validation.  Range check is not sensible for account numbers as it 
doesn’t really check anything.  
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3.	 Multiple validation methods may be applied to data. In an online banking system many validation 
methods might be applied to account numbers. 


	 (a)	 Describe three possible validation methods which could be applied to this data.	 [3]


	


	


	


	


	


	


	 (b)	 Describe, giving a reason, the validation method which would be used by banks for this 
data.	 [1]


	


	


4.	 Other than accuracy, speed of processing and repetitive processing, describe three different 
advantages of ICT over manual methods of data processing.	 [3 × 2]
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Q Section A Marks 
6. Award up to 6 marks in total  


Award 1 mark for naming the development x2 
Award up to 2 marks for explanation or examples x2 
 
smart watches to monitor and measure fitness, 
wearable devices that check how many steps you have taken in a day (1), / 
monitor your heart rate during different activities, / allows a person to monitor 
their fitness levels and see what they have to do to improve. 
 
internal body medical delivery devices, 
an expandable capsule able to deliver medication inside the body over a long 
period of time.(1) / Approximately 50% of patients don’t take medication as 
prescribed and failing to do so lessens the effectiveness of a drug./ This 
convenience would eliminate the need for patients to adhere to strict regimens. 
 
smart pills  
consumable/digestible technology.(1) The technology development is currently 
focused on two primary functions: wireless patient monitoring and diagnostic 
imaging/ , a company has developed a system consisting of a smartphone, a 
sensor patch and a pill./  Each pill contains a one-square-millimetre sensor that is 
coated in two digestible metals: copper and magnesium/  Upon swallowing, the 
sensor is activated by electrolytes within the body.  / The pill then transmits a 
signal to a small, battery-powered patch worn on the user’s torso and sends the 
data via Bluetooth to a caregiver’s or family member’s smartphone. 
 
Any reasonable answer addressing new technology in health care 
 


2x3 








3 Marks 


Fitness watches is a sensible enough name for smart watches in this scenario.  Makes two good 
points about measuring calories, GPS and measuring physical activity.  Unfortunately they do not 
mention another development. 












4 Marks 


Mentions 3 different developments but only 2 of them can gain marks.  Each one though has only 1 
valid point and so only 4 marks. 












 2 Marks 


One mark for mentioning the development – smart watches and a 2nd for explaining about fitness. 
Unfortunately, smart fridges are not connected with healthcare. 
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6. The Internet of Things (IoT) has brought many developments to healthcare. Using examples
describe two of these developments.	 [2 × 3]


6








B 1 Mark


The advantage is just about enough to award a mark as it builds upon the outline of an example. 








A 3 Marks 


The explanation is worth 2 marks as it mentions what if and achieving a specific goal. 
The example is ok but the advantage does not mention avoiding wasting time or money. 
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Q Section A Marks 
9. Award up to 2 marks for advantages and Award up to 2 marks for 


disadvantages  
 
Advantages 


• Safer – nobody hurt 
• Much more flexible 
• Can explore different scenarios more easily 


 
Disadvantages 


• Could oversimplify the situation and not be accurate enough 
• Bad error in formulas or data will spoil accuracy 
• No model is ever 100% accurate 


4 


10 Award up to 2 marks for the explanation, 1 mark for the example and 1 mark 
for an advantage  
 
Goal Seek is a process of calculating a value by performing what-if analysis on a 
given set of values. (1) The feature lets you adjust a value used in a formula to 
achieve a specific goal / outcome(1). 
 
OR 
Part of what if analysis tool set (1) allows the user to use the desired result of a 
formula to find the possible input value necessary to achieve the result (1)  
 
OR 
Modify the input (1) to give a desired output (1). 
 
Example (one mark) 
Any suitable example e.g.: 


• Looking at the result of an election to see who you should have targeted 
• You have a fixed budget and you can use goal seek to find out how many 


people you can invite to a function within your budget. 
• Mortgage calculators to see what you can afford to pay each month 
• What should be your sales to achieve a certain profit 


 
Advantage 
Allows you to work out what you need to do when trial and error is not possible or 
not to waste money or time. (1) 
 
A well-argued example can be awarded 2 marks 


4 








3 Marks 


The explanation is worth 2 marks as it mentions what if and achieving a specific goal. The example is 
ok but the advantage does not mention avoiding wasting time or money. 


B 1 Mark


The advantage is just about enough to award a mark as it builds upon the outline of an example. 








A 3 Marks 


The explanation is worth 2 marks as it mentions what if and achieving a specific goal. 
The example is ok but the advantage does not mention avoiding wasting time or money. 


1 Mark 


The advantage is just about enough to award a mark as it builds upon the outline of an example. 








3 Marks 


The explanation is only worth a mark as it only covers the second half of what is in the mark scheme.  
The example and the advantage are both worth a mark. 
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SECTION B


Answer all questions.


9.	 Car crash analysis is an area which has made great use of simulation modelling. Other than 
cost, give two advantages and two disadvantages of using simulation modelling for crash 
analysis.	 [4]


	


	


	


	


	


	


	


	


10.	 Goal seek is a common use for a spreadsheet. Explain what is meant by the term goal seek. 
Give an example of how it might be used and give an advantage it gives the user.	 [4]
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